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s FGRH)E s FGRH)E s FGRH)EE
EEMEBO(F B BEERM 8,000,000 8,000,000
EEBREER 650,000 SEABRYLEBSICFERBEEERITEN
EEMBQ(EEBEERE) 7,350,000 8,000,000
SHBEIZLDEHTHR 1,500,000

=(BEMBQ—HiTEE) 1.14

HEURA 5,701,000 [(BERKE 10%+E4EFE£18%) +2=14%]
165 1S ERR 1,681,000
5 i 0 4,020,000
[Fr#5iERR]
R 380,000 380,000
ERFE 199,200 16,600 x 12/ B
HREEES) 513,090 =#&% x 9%
EREERR 630,000 ERBERRIREHTHE, TREURLS B
HRBEEIR-NEE) 285,050 =#5%1 x 5%
INET 1,209,200 1,178,140
Z51FT#5E (%) 6,140,800 800,660 2,841,860 186,686  -3,298940 613,974
EREF 614,080 284,186 =FFFx10%
EANERT 71,000 REHE 21,000 &K¥ 150,000
BAEER 255,000 = (EXMBED—2905H) x 5%
HESE 1,669,740 541,872 -1,127,868
HRXZIEE 829,200 1,596,280 767,080 (=t =RIXFHERR x 2
#5| -360,788| YA F RlFF vy a 7O —HELE
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